Pre-AP Precal

Spring Exam Review

Name Date
Graph. 7 — r
SR AR P Ty
1. y=-—z(z+3)?
z+6
2. y=(2x—1)>%(z+5)?
2e+7
, , 9. k(z)=— 1
8. y=(a+5%—2) @
2 22 —1
4. y=(zx+2)(z—3)(z—5) 10. h(x):xQ—x—m
State all horizontal and vertical asymptotes of the )
function. 1. f(z) = 2; i Zi — ;2
2
5. =
f) =
5z% + 29z — 6
12 90 = 55,6
-1
6 —
PO = Gy ay
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223 + 52 — 222 + 15
13. f(z) = P

14. Write the first 5 terms of the sequence whose
nth term is given by a, = n? — 3.

15. In a given sequence, a; = 3; for n > 1,
an = an_1 + 5. Find as, as, a4.

16. Give a formula for the nth term of the sequence
4

9
17. Find the sum: ) |4 —z|

=5

3
18. Find the sum: ) (—2)°

c=—2

19. Rewrite using sigma notation: 4—8-+12—16+20
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20. Express using sigma notation: 12+3—-6—15—24

21. Complete the arithmetic sequence:
87 b 147 k)

22. Complete the geometric sequence:
81, 54, , ,

23. State the next 2 terms of the geometric
sequence 64, —48,36,....

Determine whether the sequence is arithmetic,
geometric, or neither.

24. 5,7, 9, 11, 13

25. 3,9, 27, 81

26. 7, 49, 343
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27. 15, 17, 20, 22, 24

Given A ABC with sides a, b, and ¢, and opposite
angles «, 3, and ~, solve the triangle.

28. b=45 a=56° B="T2°

29. b=82, a=47°, B =81°

Find the remainder when the polynomial is divided
by the binomial (use the remainder theorem).

30. 22 —22¢—63; z+7

31, 2+ —2+2; -2

Given A ABC with sides a, b, and ¢, and opposite
angles «, 3, and -, solve the triangle.

32. a=20,b=43, v =89°
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33. a=5,b=6,c=8

34. The angle at one corner of a triangular plot of
ground has measure 73°, and the sides that
meet at this corner have lengths 175 feet and
150 feet. Find the length of the third side and
find the area of the triangular piece of ground.

35. A triangular parking lot has sides of lengths
420 feet, 350 feet, and 180 feet. Find the
smallest of the three angles of the parking lot.

Write as a single logarithm.

36. log25 +log4

37. log400 — log4

38. 6(loga+ logh)



39. 4logw +4logu+ 5logwv

40. 10logr +2logs+ 5logt

41. log, 2z + 3(log,  — log, y)

Solve.

42. 5% =125
43. 277 =128
44. 3" =8

45. 6=2"
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46.

47.

48.

49.

50.

51.

7logz(20—x) — 14

logs 125 =«

log,(3z —2) =2

3% _8.354+15=0

2 =logs(9n + 10) — logz(5n)

In5+1In(z+2)=1In7
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52.

53.

Find the domain of f(z) = ! .
3—2z
a) (=o0,3) b) [5,00)
O (1) B (06U (1,00)
e) [0,3)
What is the domain of f(z) = 2
24z +3°
a) x #2 b) ©#3
c) >3 d) z#1and z #3

e) z#3and x #2
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54.

55.

2
‘What is the domain of f(ll:) = m ?

a) x#1 and x # —6
c) r#2

e) z>3

b) x #2 and x # 3

d) x#5

Find the domain of the function
f(z) =In(3z +1).
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1. 16.
CodePath: TRI.IB.34 Answer: an, = Z—ié
9. CodePath: TRI.LM.9
CodePath: TRI.IB.57 17.
3. Answer: 15
CodePath: ~ TRLIB.87 CodePath: ~ TRLLM.11
4. 18.
CodePath:  TRLIB.74 Answer: ~57
5 CodePath: TRI.LM.13
Answer: r=-5y=0 19. s
CodePath: TRI.ID.1 Answer: S (—1)F1(4k)
k=1
6. CodePath: ~ TRLLM.17
Answer: r=—-4,y=0
CodePath: TRIID.23 20. .
7. Answer: > (21 —9n)
n=1
Answer: z=-52z=1y=0 CodePath: ~ TRLLM.19
CodePath: TRI.ID.27
21.
8. Answer: 11, 17, 20
Anser: z=43,y=0 CodePath:  TRILLM.27
CodePath: TRI.ID.29
22.
9. Answer: 36, 24, 16
Answer: y=0 CodePath: ~ TRLLM.55
CodePath: TRI.ID.61
23.
20' Answer: 27, 20.25
nswer: r=-3r=4y=1 CodePath:  TRLLM.61
CodePath: TRI.ID.70
24.
j&l' . 9y =2 Answer: arithmetic d = 2
nswer: r=5Y= CodePath: TRILE.1
CodePath: TRIID.77
25.
f' . B B Answer: geometric r = 3
nswer: r=1y=5 CodePath:  TRLLE.5
CodePath: TRI.ID.78
13 26.
A : ' Answer: geometric r =7
uswet: none CodePath: TRLLE.7
CodePath: TRI.ID.97
14 27.
A ’ R Answer: neither
nswer: —
b T dePath: TRI.LE.1
CodePath: ~ TRLLM.1 CodePa RLLE.17
28.
f' TRT Answer: v =52°% ¢=237.3, a=39.2
nswer:
P CodePath: TRI.QF.1
CodePath: ~ TRLLM.5 odeta Q

created by Acces for use by Richardson High School only.



29.
Answer:

CodePath:

30.
Answer:

CodePath:

31.
Answer:

CodePath:

32.
Answer:

CodePath:

33.
Answer:

CodePath:

34.
Answer:

CodePath:

35.
Answer:

CodePath:

36.
Answer:

CodePath:

37.
Answer:

CodePath:

38.
Answer:

CodePath:

39.
Answer:

CodePath:

40.
Answer:

CodePath:

41.
Answer:

CodePath:

42.
Answer:

CodePath:

43.
Answer:

CodePath:

N =52° a=60.7, b=654
TRL.QF.3

0
TRI.GB.19

40
TRI.GB.78

c=471, a =25.1°, 3 =65.9°
TRLQG.1

o =38.6% B =48.5° v = 92.9°
TRLQG.17

194.36 ft, 12251 ft?
TRI.QK.25

24.98°
TRI.QK.35

log 100 = 2
TRI.KD.1

log 100 = 2
TRI.KD.5

log (ab)®
TRI.KD.33

log wu*v®
TRI.LKD.49
log 105%¢5
TRI.KD.51

log,, 2—;;
TRI.KD.103

rz=3
TRI.KF.1

T =7
TRLKF.9
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44.
Answer:

CodePath:

45.
Answer:

CodePath:

46.
Answer:

CodePath:

47.
Answer:

CodePath:

48.
Answer:

CodePath:

49.
Answer:

CodePath:

50.
Answer:

CodePath:

51.
Answer:

CodePath:

52.
Answer:

CodePath:

53.
Answer:

CodePath:

54.
Answer:

CodePath:

55.
Answer:

CodePath:

Teacher’s Key

__3In2
n =935 ~ 189

TRI.KF.47

n= {8~ 258
TRI.KF .48

=26
TRI.KF.85

=3
TRI.KF.105

z=26
TRI.KF.129

r=1
TRI.KF.69

_5
n =13

TRI.KF.139

r= 3
TRI.KF.183

a
APC.BA.21

d
APC.BA.7

b
APC.BA.8

b
APC.BA.25
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